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HW 9-7 Start the warmup in our notes after checking your hw.

- Test still Thursday this week.

Who's not here Friday?
1. a. decreasing b. 82 c. .25(Loss of 25%) d. .75 e. 46.1
2. a. increasing b. 154 c. .36(Gain of 36%) d. 1.36 e. 284.8
3. 1,406,413
4. $5695.31
5. 6%
6. d
7. See explanation on next slide
8. {6}
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Name, Alg 2 HW 9-7

For the given the equations, determine

a. Increasing or decreasing

b. The initial amount

c. The rate of change

d. The growth/decay factor

e. Find P(2) to the nearest tenth.

P(‘rJ=2'32(-75)t P(f}=154(1_36]'

a. dxmegsmg. a. |n'crg§5)'%

b, 32 b, |54 .

c. 1=-715:.25 LﬂSSOFZS? c. .36-1=3( Gaun of 36‘2
d .75 d [.3€

e. H6.| e. 234.8

P(2):82()
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Write an exponential function o model each situation and evaluate for the given value.

3. A population of 1,236,000 grows 1.3% per year. What will the population be in 10
years?

P(+) :1,236,000 (l.om)t
P10) = 1,23,000 (1. a13) '©
< 1,406,413

4. A new car that sells for $18,000 depreciates 25% each year. What will the car be
worth in 4 years?

C&) - 18600 (15
C) = 1goco(75)
= $5(95.3

5. A townhouse purchased 5 years ago for $100,000 was just sold for $135,000.
Assuming exponential growth, approximate the annual growth rate, to the nearest

percent.
135,000 100,000 (14,
106,000 100,

S\FQT "(l-l-r‘ Gr (90) (\+r ‘ﬁ

l+=1.0¢1858759
6%
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6. Which of the following best describes the graph of f(x) =472 -F&) - (qL‘)
a. It isanincreasing function, and it approaches but never reaches the
horizontal axis to the left of the origin.
b. It is anincreasing function, and it approaches but never reaches the
horizontal axis to the right of the origin.
c. Tt is a decreasing function, and it approaches but never reaches the
horizontal axis to the left of the origin.

d. Itis adecreasing function, and it approaches but never reaches the
horizontal axis to the right of the origin.

7. A student says that the graph of f(x)= 2" + 4 is a shift of 3 units up and 4 units
to the right of the parent function. Describe and correct the student’s error.

The shudert mixced wp horizontal and verticel Sft
Tkaj also mixed up Hhe divechion of fre horizortal sht

This Wansformation moved left 3 unrts and up Y wAtfy,

8. Solve and check algebraically for all values of x:

G Bexo7 xZ_1Bx+84 = O
=X X
o5 (- A (x-0)x-9): O 763
(65 '<% x-6=6 |x-9:G

5:0-Q0x%)  x:C [x:9 ep
X-5:49 - Ux+x® Chek  Ched
X+5 €5 X Vo5 «6=1 JQTS_#? =7

Hosl  uq:7
77 11E7
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Exponential

ay

Feb 6-3:44 PM

More Word Problems using Exponential Growth and Decay Unit 9 Day 8

Warm-up: Graphy = 400(.85)%- 6

i“f*iiiﬁiiii: xelr |46 [7
m J a2k b3 [Da/35-/

L
300 \\t::tijﬁ (o ondy W
o TN Xm0
N L oeonce 00
Xs el =

100
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Yesterday we worked on word problems that dealt with growth and decay models based of f of
being compoundMEHDToday we are going to look at situations that deal with
compounding any amount other than annually. If you look at the equation below you will see
that there is a small adaptation to the formula.

ol
A)=all£r) — Céh«,oduv-ckhg_ A'mma.&%_ 9.

G M(IJV'\L [nderaot- i
A1) =a(l+ )
n —

where:

A(T) > @mL\g_ amount .5 Fale 20 a Saral

a-> l"\':*"‘“l Wﬂbd—v\‘f' Y ‘!‘1"“6 (/.SU‘!//V /N"I 7(%

n> F(om foundS 12n)> Guwth | Dleay Facthir—
e YLar 1+~ -~

in

et
P
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Determine the amount a $4500 investment is worth after four years at the following interest

rates: A= YSo0 =7

. [C))
5.4% compounded annually

= .0Sq P,(tl):“/sood""%ﬂ)
n=| =$£5552,0 YC4)

054
5.4% compounded %mr‘rer‘ly A(“{) = (/580 ( / + T{_
(= O b/

=y = £ T7q9-97 —$<$9¢.9

o054 \R(D
5.4% compounded m;z‘rhly A(%}—_— L{SAO C/ t c;.)_. B
y(;::. (ID,)\/ - 555%2,16

nt
Aey=al+E)
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o= =
You have $15000 to invest for five }Ear's. Fund A pays 13.2% interest compounded annually.
Fund B pays 12.6% compounded quarterly. Fund C pays 12.5% compounded monthly. Which
fund will return the most money? Justify your answer'

fnd o Bs)=1soeell +EBY® _ 50980097
n=/ ¢(S)
Fund B 2k &5} =) 5°°°U+ = 527) 89176
h =Y "1%\1(5)
Fnd G, (25 cs)= )3 14557 ) = $7,93332Y
=

Answer: Cad C HAmng Ho_ post=

Apple stock was worth $10 a share in 1995. Due to Apple's success, the stock was worth $90
a share in 2017. Assuming exponential growth, approximate the annual growth rate, to the
nearest fenth of a percent.

Feb 6-3:47 PM

If $6000 is put into a savings account that pays 3.5% interest compounded monthly, how much
money, To the nearest ten cents, would be in the account after 6 years, assuming no money was

added or withdrawn? p& _iS___’: 035
4 === 0
l( SN 035 'l“) ®
Wl

«—57,3?7"@6 homsor [0 04
% 6739950
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